[ Efficiency vs vertpos |
- 05

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15

...................................

................................................

ettic

..........................................

R = - SRR

107 1

10 0?
TP vertr (cr%)

—s=— ../.JCMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_batchCAND-adjusted
—e— ../.ICMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_CAND

—— DQM_V0001_R000000001__Global__mkFit_CAND-AFTERCONFLICT2

Efficiend

~ 0.5

L TS S RESCITot IRTRTE S
4 E . .
| TSR IS SOPSR SR S B
> U7 ; :
g E ! :
o K IStCIE ST
o E ! :
o R T R SRS
o E ! :
LS S T A I
02;— B N S S
0152_ e T P
0_12— ------ e do i e LRI
0.05f-++++cherereerineatee A R
JEROY: S DU TU . S B T
g
x r

[
T
e

0.95!

10 20 30
TP vert z (cm)

0

[ Efficiency vs. sim PV z |
~n 0.2

> F

VT SURPR PR SURPRN PR STRCRE REISE SURRE O
£ n

:/—) 016:— ------------------------------------------------
B0 T | e P P
Py E

20.12F i b
) E : : : :

5] o : : :

£ O0l---r-ieeee FRRRERE SRR EEE R R
(5] Eoo : :

0.08F
0.06F
0.04F
0.02F

0 2 4
Sim. PV z (cm)



	Contents
	Page 1


